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Part—1/91T-1

Marks — 30 / 3% — 30
Me: THIFH DA 15 99 & | IS 99 A 2 | I3% W9 F 1T 02 31
fuifa & | ;

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

IAEUS H Fereha, WRTReRt, shieft aii e afeat o ofvan & o 6 i@ s R 7
[3a || : 20 915

What is the correct sequence from west to east of rivers : Alaknanda, Bhagirathi,
Kali and Tons in Uttarakhand ?

. [Answer Limit : 20 words]

IAREYE 1 i |1 e 91 rfrehay anffe awf s ahtar 8 7 (ST & - 20 v1sg)
Which physical zone of Uttarakhand receives the highest amount of annual rainfall ?
[Answer Limit : 20 words]

ITREvE A i S v AT w1 37T 3 are iy & A feflag |

_ [T €T : 20 93]

Write the name of three thrusts separating the three main mountain ranges in
Uttarakhand. ; [Answer Limit : 20 words]
HITaT SR ! i A IIATE o3 TR Hid & 7 [SE i : 20 W]
Which drainage systems drain the Malwa Plateau ? [Answer Limit : 20 words]
R 1 o fafte o aae &1 m §ane | [Se & : 20 I5g]
Name the different types of gauges of Indian railways.  [Answer Limit : 20 words]
WRE % 9fvas adig AeFl # rcaftren aul &+ HIoT 8 ? [ HimT : 20 1T

Why does the west coastal lowlands of India receive heavy rainfall ?
[Answer Limit : 20 words]

‘Mm&ﬁ’mﬁmﬁ%ﬁam [T T : 20 Y1)
Comment on ‘Mishmi Hills’. [Answer Limit : 20 words]
ﬂﬁqﬁﬁw%? [STREimT ; 20 9155 |
What 1s ‘Amindivi’ ? [Answer Limit : 20 words]
CHPA Y TR ? [ i : 20 W]
What is ‘Deccan Trap’ ? [Answer Limit : 20 words]
Sa-fafevan i afonfia Hifve | [STR HiT : 20 W)
Define Bio-diversity. [Answer Limit : 20 words]
YA HAATHTE 7 [ 4T - 20 91
What is white coal ? [Answer Limit : 20 words]
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Fresa-Affee Yemrt w1 9o Hifv | [ i : 20 9sg)

Describe Canadian-Pacific Railway.
[Answer Limit : 20 words]

‘Wl FE ? | . [ i : 20 w=e)
What are the ‘Jet streams’ ? [Answer Limit : 20 words]
o famA R 2 (3T HiAT : 20 975

What is earthquake science ?
[Answer Limit : 20 words]

IR BRI TN R ? | [3 & : 20 v
What is rain shadow region ? [Answer Limit : 20 words]

Part—2/¥9FT -2
Marks — 50 / 3 — 50
AL: WUMH gﬁlomilaﬁmaﬁaﬁilmm%mosm
fulfa & |

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

g fRufrs e g ? [ Ia T ; 50 ¥ |
What is age pyramid ? [Answer Limit : 50 words]
SETTH 1 R SHIf | ' [ S ET - 50 9g ] |
Define Watershed. [Answer Limit : 50 words]
ITEVE % AT HAETHi 1 FUiH HIT | [ SO ET ;50 Ig |
Describe the tribal habitats of Uttarakhand. [ Answer Limit : 50 words]
FOUTIHH 1 2 7 [ STCHET : 50 9 |
What is Krishnapatnam ? [Answer Limit : 50 words]
yfgedft are fra ae A i ae a fim 2 2 [ 3T HHT ; 50 w1 |

How does the Western Ghats differ from the Eastern Ghats ?
[Answer Limit : 50 words]

WG 3 e o) Wl ht i o fftrf sraamd o € 2 [ FaC T ; 50 9 |
What methods of rice cultivation are practiced in India ?
[Answer Limit : 50 words]

feat STt % gTEl SHTT § YSE JTNT hl FEdT & 9T HRUT E 7[IqCHHT : 50 I |
What are the reasons for the concentration of Jute Industry in Hooghly tract of
West Bengal ? [Answer Limit : 50 words]

iz Feivm o1 wftw R SR | [ Fa e : 50 weg ] |

_Give a short description of Cement Industry.

[Answer Limit : 50 words] |
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24. | @At E ? , [ I T : 50 31 )

What are Tsunamis ? : [Answer Limit : 50 words]

25. | e v o feogofi <hifsra | [ I T : 50 W= |

Comment on El-Nino effect.
[Answer Limit : 50 words]

Part—3/91FT-3
' Marks — 40 / 3{& — 40
Me: @ umd et 07 w99 & | 3neff 5= 05 el 1 I ) e v & fog
08 s Fuif@ # |

Note ;:  There are 07 questions in this part. Candidate should attempt any 05
questions, Each question carries 08 marks.

26. | wUwaRG g <ht feRIyand Sase 3R 3% fia iy | [ ITR Himr ; 125 9eg |

Give the characteristics of Metamorphic rocks and classify them.
[Answer Limit : 125 words]

27. | @ul % WehRI 1 qU I | [ Fer Hiwy : 128 95 |
Describe the types of rainfall.

~ [Answer Limit : 125 words]

28. | ez 3am % fwm ¥ e e aifRfhEt  wwsneg R wgE T
FTCEhT A YT ITET G | » [ IO i : 125 92 |
Explain the essential conditions for the development of Iron and Steel Industry and
give suitable examples from U.S.A. [Answer Limit : 125 words]

29. | ufvas fagy TR 7 WRa H 36 YHIE T TUMF HiT | [ IO HHT : 125 95 |

What is Western di_sturbance ? Describe its impact on India.
' [Answer Limit : 125 words]

30. | <few mrft TEt deen T atim feoavft fafae | [ SaHr : 125 I |
Write short note on Indira Gandhi Canal Project. [Answer Limit : 125 words]

31| sovEvs % fasgpe’ wafm feuft fafay | [ ITH : 125 g |
Write a short note on ‘SIDCUL’ of Uttarakhand. [Answer Limit : 125 words]

3. | el sefeea afEs % afiw T sega ST | [ TG : 125 ¥ |
' Give a brief account of Tehri Hydroelectric Scheme.  [Answer Limit : 125 words)
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Part—4 /97T -4
Marks — 80 / 3% — 80

M  WAMHFA 07 5§ | 3rmeff 6= 05 v w1 IR | v v S R

16 3 fuifa € |

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 16 marks.

a1y e & Ffda wemsfedt o1 9via Hif | [ 3T €T : 250 WL |
Describe the landforms produced by wind erosion. [Answer Limit : 250 words]
wifts e 3 & i B, - g v AR (afe o) w1 geETes Tee
HgTEY 3R STt fergga wifts % wgd weem i fadwan Fifng |
[ IT T 250 VL,

Explain the comparative importance of coal, hydro-electricity and petroleum in the
form of energy and discuss the increasing importance of hydro-electric power.
[Answer Limit : 250 words]

e 1 et 9@ Hhifers s faifeu | [ S 250 W1 |

Write a geographical essay.on Urbanization in the world. [Answer Limit : 250 words]

ITRRGUS & T HiY i 3 Fehrt T wfdrm T Hif | [ IeR T : 250 ve2 |

Describe in brief the types of mountainous agricultural land of Uttarakhand.
[Answer Limit : 250 words]

“Rret T it geafa 981 & Serarg g At R 17 e i |
[ ITR T : 250 W=g

“Vegetation of an area is an index of climate.” Discuss.
[Answer Limit : 250 words]

THE % ST ST STRA H&Id: el Ud aitierTg ash gt o ifia & 7
[ ST &1 : 250 ¥ieg |

Why does the rubber plantations are confined to South India especially Kerala and
Tamil Nadu ? [Answer Limit : 250 words]

YR o IET o faaer ufdey wuese | o 98 3R afiEet @ AR YeE
FEATE? [ AT 9T : 250 Ieg ]

Explain the distributional pattern of Industries in India. Does it provide basis for
industrial regionalization ? [Answer Limit : 250 words]
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